00?5.’ Below is a worked solution to a question

that I feel you could have gained more marks on ..

Diaagram NOT
accurately dawn

@ Y@

ABC is a straight line
As douwork analea out

AB = BD
Angle BAD = 25° wmm Io*f\S'\ﬁ p:udzt;

Work out the size of the angle marked x

Give reasons for your answer

0 Tyl ABDis isosceles and ADB = BAD

@ ABD = 130 biecawsz aggleo o tnasgleadds upho (80° (a)
95425 =SO  180-SO a’aj ‘j “f

@DBC = SO° angles onoshaight Wae ot & pouat = 18 0°

Ox ¢« blmAJSQOIgth\O\fV\wﬁh odd up b 180°
sSH+30=120 (8O- nzoeeo = 60°
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NOW HAVE A GO AT THIS:

Q
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CDEF is a straight line.

AB is parallel to CF.

DE = AE

Work out the size of the angle marked x.
You must give reasons for your answer.
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